1. [4 points] It is estimated that the net cash inflow of a project at the end of year 3 has an average of 1000, and a standard deviation of 100. If the MARR is 12%, compute the average and the standard deviation of the present value of this net cash inflow.                                                                                                                                         





2. [4 points] It is estimated that the present value of all  the net cash inflow (incomes) of a project  has an average of 2000, and a standard deviation of 200. The present value of all  the net cash outflow (costs) of the  project  has an average of 1000, and a standard deviation of 100. Compute average and standard deviation of the NPV of this project. 







3. [2 points] Suppose the NPV of a project has a mean of 500, and standard deviation of 200.  What is the probability of having the NPV greater than or equal to 0.
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Year10%12%14%

10.910.890.88

20.830.800.77

30.750.710.67

40.680.640.59

50.620.570.52

60.560.510.46

70.510.450.40

80.470.400.35

90.420.360.31

100.390.320.27
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		Year		10%		12%		14%

		1		0.91		0.89		0.88

		2		0.83		0.80		0.77

		3		0.75		0.71		0.67

		4		0.68		0.64		0.59

		5		0.62		0.57		0.52

		6		0.56		0.51		0.46

		7		0.51		0.45		0.40

		8		0.47		0.40		0.35

		9		0.42		0.36		0.31

		10		0.39		0.32		0.27
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